19991 91093 DIYraNNn - C 2 N
AUNNN NI

: (bytes) DN DXNXIPIN DINRN YV NITOI NLWN NN AWNND NI DY IWNY 1)

C T T T T [ T T
0 ! 2 5 4 5 6 7 8

DY2NNN MY NN YIS 1M .(bits) NP NPIIPN NMINDI NN NNNDYN M)A byte D
DOUNIND NPND DI1D NHN DMV DXANN NY , I NPNIN .1 -0 - 2 MDD DY DMIVIND
NN byte 9D 256 = 28 NI R¥DNY byte Y5> DN DMWN DIANNN 19010 NV D712
byte - 1 DY) NN XD 1901 NI 1901 MY JPARY 1IN NITOL I THN DIPNa
DN DXXNY NNNN DXWNNN DNVPN DMIVONN ,IPNI) byte -N YW NAINON XIPM PIDI2
NN NINIWIN OINDD NN NTHPN PNIIT2 DN NNRY MDSNNINN YD .(DNOY MAINON
MINYN NOIND OWNTTN bytes - N 19010 NN NYTY IWINN ,sizeof 7IVINNN ,C 2 .90 N THNX
AT it DINVN NN NOINY T2 byte TN VITT ,char ©IPVI MNYN NOIND .ONDN
(NY2IN YV NNVOIN YY) DINN 1901 I77a

MINWNY NXPINN NN NNION 2NN XIN TIWN . 9ID0Y 79¥ v C - 2 (V22 IN) MINWN YO
T D35 DN NPOPIVA MY NNITA . TIVN DY MINVITTVINRN IN MYNPVYNT XN DIV
v 101 TIYN DX 22NN DNON byte DN, C2 0,2 POPI 5, MPT 5 ,70MPP 5) Mynwn v
ANNIN) TIVIMNX DY MYNYNN A1) XIN MNND DHPR IN 19007 NMYHYN NN DINYD DYL
DIV ORNNA PVIND NNV NPND NI PN (NNPDD

0'yrasn

TV NNIYT TYANY 925 1N .MV NMNN XM DIDID 2AWNNN N1 DINWIN DIITY
NO2NN TIY NI NNIYY 110 C NIV SMAON IN XVNN TIY IN MYV 19019 RVINN
SV DYDY IMYNYNY 1901 D¥10N NN PTHIND 112 ,MINK D701 .11715°12 NN
22NN NN DTN NXIN TPND P80 OIXNP NI MNYNY NI INN MNYN

A N I N A 3 I

TONY 0NN .72 701 RN DY ININI IMYNWNY 19010 NX D¥I0 6 99010 RN, IPNI
PA¥IN 2 NN MNYNNY IN 2 NN JOIINNDND MNWNN DY ¥92819 6 XN JOIINNDND MNUNNY
.6 XN NMnNwnNn MY

byte - 1 N2IND NN 931D NINY NINIM TNN byte - 13 1NV WIAXNY NP 3771 MINONNI
SYANND NN POY MNWNN DY NUXIN

TN TN YTIO 1PYI NIN NN DY NIND NXINY TIY 92500 NMINWN DY VIVIN 1PYIN
YN YDV DIINI 22N AXMY I NT YT MDA IONNMIV KD DINNI MAN DI RPN D12
2NITO NI ONITO RO

: NIN JOINA NVYN int YIANND p NINWN DY NINNN

int* p;
N

int *p;
ANt NDN MNWN DY NN NN 92D p Y TIVN MYHYN I int* XN p OV DI9VN



DNMNND IYIAND * NMOINND .DMP MNYN DY NAINON DX DIAPY IWaNND & TVININD
:IOANNA VIV YIDY NINTH NI INND WANND MY YaANIND MINWNID
int main() {
int *p;
intn=7;
p=&n;
printf("the address of n is %d and the value of nis%d\n",(int)p,*p);
*p - *p+* p;
printf("the address of n is %d and the value of nis%d\n",(int)p,*p);

printf("the conventional way to print an addressis %p",p);

return O;
}
19200
NN VYN MIVN NNV .int-H WIANN - int* DINVN p DY NMINYNI NITHIN NIYRIN NIVA
, NN NV MINNNN MNY NN 2INID 7D 1N .7 - D IMNX NONNNY int ©INVN N MNVNPN
(N2 19N
int *p,n=7;
92920 TR DIPY XIN NN NON
int* p, n=7;
(int* XDV int PTY XN N HY ©I19VN)
NI N MNYNN DY NIINON XIN MV2AN TIY .&N MV2IN NN NIWY ,OYWOYN NNV
VY .p MNWNI NNV MN TN DX .(Int DY N2IND) int* NN (TIVD MYNYN) M01an DINVI
NI AN I NTIPO NI INND Lint* DIDVN TIV int* DIPVH NINYNY NPVYNY 2D OIVD
:TRD 7O
Fpwn p
7 | | | - 586016
e o o o o o
586016 566017 586018 586019 586020 586021 586022 586023

( sizeof(int*)=sizeof(int)=2: ¥ NNIN NP NT VIVIVI)

DIV TIVY VN p HY TIVN XIN DTN NYRIN TIVN .NDITN NNV NN NOYIIN NNYN
: NN 2NN 9D NPWYIN casting NXIPI ©IOIV NN .int
(type)expression
227 191N ©ATNY Y ININ,int 719D1Y int DY N2IND AN 1901 NINN MOV NIPNI
175 OPIIN NNNI N Y NNINA .N - POI7Y YIANINN MINYNIN DV TIVN KIN DITINY MWD TIVN
STPT N NN NRIIND VO ,IVPRN NINIDY
the address of nis 586016 and the value of nis7

T SW NN NI *p+Ep MN02aN .p oY YANINN MNWHRD DY DXT1Y NNIN NPWHNN NNIVA
STIPN P O7Y YANINN MNWNY DVIN 1Y TIY INSYY ,p oIy ¥asimn mnwnn

n=n+n;
NV PV TIP RN
2T NI PN ,NYD
Fpwyn p
14 | | | 586016 o e e
586016 586017 586018 586019 586020 586021 5 06022 586023



£32 DN PP, TPYOWUN NNV DV V59N
the address of n is 586016 and the value of nis 14

printf Y¥ NT19NN2 %p NDOPON .NDPNT NN p OV TIVN NN DIDTN NN MYV NNVI
:NPVPIY NPDON OININTOPN NXMI NDITIN NIIND .NAIND DTNY WY ¥
the conventional way to print an addressis 8f120

APIYN HY MNYPNY HIONND YY MNP

DV DYPN TYN .OMOXPID ,DMMIPN PN NYHNNYN DN DINYNN DI ,ND TY PRIV NINHDNT
(NI TIP2 PIAN) NI ,DINNN) DN NIV 7PNPNIMNY 1IN XIN DONDIPH DINYN

int factorial(int n) {

int nl;

if(n<=1)

return 1;
nl = factorial (n-1);
return n1*n;

}

int main() {
printf("factorial (3) = %d", factorial (3));
/* nand nl are not known here */
return O;
}
NI TNPN MN DY DINPIN DMINRPI DNINYN .OMORPID DNINWN DN Nl N DINYNN
NON DMNYN HY DXPNY 3 DNIDN DYWL 1IN MPNIDN NN .NMDNN DY NN HMInn

. : IONNHN DY
.
nl
factorial(1) N
nl
factorial (2) 2| n
nl
factorial (3) 3 n

NYYNY .NMONNI INTRY NYNNNN DY P NN THINNDI PNIDTN ORN NN NIMNY NDON
.12 7Y IMIDT POY OINITO NI ININD YOPA 1IN
(VD 7P PIADTN ANN ,TIY OWY factorial (2) DW nl - 51 ,0»Non factorial (1) MNPNINY INND

factorial (2) 2| n
nl

factorial (3) 3 n




DM DYN 925 factorial (1) YV D1ORPIYN OMINYNN, n-1nl

N2V I DN XD DY DYPN TYNHY NI DIPN NRIPNA TNY W 017 OMIPNa
NIPN NXIN,NDID NIDINN DY DONN) NN PINNY NN DXPND 1A NP DI .7DNPNMN
NIV NN, C- 2 NN YNID NDIPNND NN DT ARSPN NNIPI NI IRYPN IO
s INY DT NN TIPN .malloc PN
#include <stdio.h>
#include <stdlib.h>

int* foo() {
int *p;
p = (int*)malloc(sizeof (int));
if('p) {
printf("allocation problem\n");
exit(1);
}
*p=17;
return p;
}

int main() {
int* p1 =foo();
printf("*pl = %d\n",*pl);
free(pl);
return O;

}

920N
NP .stdlib.h ***malloc.h *** ¥27p1N X 51555 v free - Y malloc NPYPNN WNRNWND 172
M0 WNNY) XY DN D0 D17 OMPY DD

.malloc MXPNANM ININD TN DU p- Y .p DY IIRPID WIANN DY NPNNNA foo MNPNN
JSIRSPIN NYNI 12 1PN NN NN NPTNND NPHT NN NI N8P maloc NPNPNN
2712 PN NI NP NN, MEPND MOYY Dd-byte-N 1901 NX VNI NP malloc
NPV NYNRIN byte - N DY NINDN NN NPTNND 7NNIY7 NNDND PIDT MINI WPI1AD
NN NYTY NI XY NN, NNIPNIY NI WHRY DIV NHNRD NYTY MPN malloc ¥ )N1In
5551 .( double* W int* YWnb Nt ONN) NINN NOOY NAININ DY PO T190 DIDVN NPND IS
NINN NNV DIV NN NN DY NAIND 2»NNNY YDA, YYD NAIND NN malloc 1t N
Y8IY ¥ void* DIVN NIINIT WHRNYNY DPawa T XD DIVD N2IND IVIVNIY voids NN
NYN 9 ,int XIN YANINHN DIDVN MOV NIPNA .YANINT DIV NN PTINY (casting) NN
int PNONNY DWITTN DXNAN 1991 M1 malloc - D NNOVY VNI .int* - D void* - 1 NN
M2

TY AN NNV DY NXPINY I .NMI0DNHNT 1N SN0 PN, NNIY NNINND PN INN
free MNPNIN MY IIMYN NINY

YANWN NIIWND PN KD NRIPNN NYPA 1212Y NPND D> OWIOND NDIDY NINPT RPN
TOVN NN malloc PN ,INRIPNA NOWII SV NIPYR 532 .1710IN NMYI WOV IX DIWINTD NI
NYTIN NN, NOYID DY NIPNA .NOWII IXRNPNN DX NPTIA INAN NTIPON .(NULL) 0
INOND NI stdlib - 2 NINNDY exit IIPNIN .NNDINNND NIPIAN NNON NYNIAN) NNIY

,0 =D NNYN) 1 TIVN NN NITNN NN NIPN .NDYINT NIIWND IRV TIY NN NININNN
ppn

199 NN 17 TIVN NN YNPINY NN NN MIDINN ,NNOYNN NINPTN NYNPNINY NNINA
.foo MXPNANM NN TIVI MIPTN PN DY NINDN DX NN

NTIPON .pl YIAXNI MINNI ITNININ TIVN NN NI f00 MIXPNN NN NDOYN mMain NPNPNIN
MY 17 PYTY NN I3 TIY .pOY YaAsIND MINWNN DY TIvN NN NDTH main YY NXan
YSPINY PN 9INIWN NPIDNN DPD N9 .NYYA ND 925 NY TIY DVIN NIV INPNINY
NV TONITY NPT NNPINY MR YIANND NYAPN free MNP .1PNOT

1992 NPYAY DYND IOV NPPN NI NIAVNI NNXPNIY PNIDNN DD NN NIINWN NPINXY 1IN
NN NINY DN DY

:NYMNONI foo NINPNINY 7Y WNRN 113N 28N NN YWINNHD NXIN IPND



f 00() 104 | p/\

main() pl

I 17

104

nnonnn anaun

£ 79 PN NN, main YW IV NNIVY NN NIPAN TUND

104 T p1

main()

e

I 17

104

nnonnn anaun

DY IRYPNN ITO .1MONNNN NN D1TAND 572¥2 IHIIN NN PN 1NIN NNV NN
D)) NIV D) DONNN NI, MNINN 12D NININ NNIND D913 1IN 1N NON NN NNIYN
ST ONITO PIDTINN DY DY DINTX NMIDNNHN

TY NN DT .NDNNN DY NN NPNPT NNPINY PN NINY DY NPINND PRIV 295
NIPIN PN, NI NINYD YUMIVIN INN DM Java- 2 .Java- Y C/C++ P ONMYNvn D1an
19IND ININ TINWNI YA NN 92OV NI NN NN )ININ .garbage collection

VAT INNN . OOMINT NPNIN MOY D ¥ NIDNNN DY DN N3 NN DPPN NMIND DVNMIVIN
NN DT DMIPNRA .JININ 1IN Y G0N NI DN NIDNN TONNA NPNNPN MP>Ta
.DOVIN NN

IO INND NPYIADY MIDNN NN JIT2 PN NONND DINY 51D NI NINY X

0r¥22812) D91

TIPN AYY NURIN RNY YIA8ND NI TIWHN DY .12 DINN DY 937 0IW NN Tvn C 2
:INY DTN NXIAN
int main() {
float arr[20];
arr[0] =2;
printf(" The value of thefirst cell in the array is: %f\n",*arr);
arr[7] = 17;
printf(" The value of the 8th cell in the array is: %f\n",* (arr+7));
return O,

17 -1 2 v V591 DIIIWN
:TPNPT INNPNA WINOW DY P NNIT DDA ¥8IN XIN TIPD
int main() {
float *arr = (float* )malloc(20* sizeof(float));
arr[0] =2;
printf("The value of the first cell inthe array is: %f\n",*arr);
arr[7] = 17,
printf(" The value of the 8th cell in the array is: %f\n",* (arr+7));



free(arr);
return O;
}
1ADIN NIN 7 919011 NN NIINID NIADIN N, 7 ar - AW NAINID NN TWNIVY 20 DOVO v
NN ,)2 OX,90INVY 901N TIVN float 0N DINN 7 2 J'HD‘IPJ‘ITD WIITN 9991010 DN
s INY NI NN PN . 7*sizeof (float)
int main() {
float arr[20];
printf("The acctual difference in bytes between arr[7] and arr[Q] is %d = %d * %lu \n",(int)(arr+7)-
(int)arr,7,sizeof (float));
printf(" The same difference in float unitsis %ld\n",(arr+7)-arr);
return O;

}

The acctual difference in bytes between arr[7] and arr[0] is28=7* 4
The same differencein float unitsis7

1099

;DMWIANN DY NPOVNPIIN 2D ODDI PIND NDID 1N NI NNMINNN NN
.Sizeof(T) YW MTPN* NAVINN , 05V 9901 P2, T 9I90Y ¥an 1P NVNNIN NIV Yo

p+3 SN

p \
(T* D19™un)

.DY9YN2 NPNDINNIN YNID YT DOYIANNI XIANN WDV NN N NNNMINND NON

(1Y 9535 ONT TY INN

int main() {

double *ptr=(double*)17;

ptr++;

printf("%d\n",(int)ptr);

ptr-=2;

printf("%d\n",(int)ptr);

return O,

: 029N NN HD2AP) ,sizeof(double)=8 N2 NOIYN2

0oy>281Y DIYIaNN
NI D) TPMIPY DI, YA MINWN IMNX .INYN DY N2IND Y900 MINWN XIN YIANND NN
29D T* P IDIOV , T DINVN MNVND WIANND ,ND TY INRIY MNDTN 29D .WIANN NPND
* I0ININNY DN PYIY TY . T** 7PN IV, T* MDD MNYNID WIANNDN WIANND AN INN
IN,YANND NID D) NN ININ DN .WANND p POY MINVNN NN PINND ,p WIAND DY H3an
AP Yasn PYY MNUNN NN PN **p nvian
NI TP P
int main() {
intn=17,
int*p=&n;
int**p2 = &p;
printf("the address of p2 is %p \n",& p2);
printf("the address of p is %p \n",p2);
printf("the address of nis%p \n",*p2);
printf("the value of nis%d \n",**p2);
return O;



2T MNIND 92 VYN
the address of p2 is 1e41fd4
the address of p is 1e41fd8
the address of nis led41fdc
thevalue of nis 17

2T 2AWNNN PIIT IR, MNYNN INKD

ledlfd4 1le41fd8 p2 >
1e41fd8 1e41fdc P )
main() led1fdc 17 n

(19230 1PINN PPIY A19TH IIONHN NN NN MDY NHNOVTIIY DININ ¥ INNTI DI90NM)

NV 90N - NAIND VIV 92517 ,95)9 WIANN 1N PPTL ,WIANND WIAND DIV PIAND WD
MYNYNN 12195 DINVN XIN ,WIANND WIANND D)7 YIANN P ST DTINN . P12 DIPN
IUNI WIANN DY NIIND NI TIVD MYNYN WIANND 1IN 92170 IWRI 12 HDmN TIvn v
DPNN MNVAY DTV DDA .50 MINWN DY N2IND NI TIVD MYNVYN 579 ¥IA8N1 92110
NPV Y HY MINNK DDA .NNT NIN DNONXD YITTN DIPNRN ,MAIND DINYHN DIDIN
: OMP

sizeof(int*)=si zeof (int* * )=si zeof (doubl e* ) =si zeof (doubl &* * ** )=si zeof (voi d*)

WIANNY WIANNY WIANNI WRNWNDY , WIANND PIND 20D 99NV N1 DI NN 0N 110 M19ND
INDT YD)

: D290 DY AUPNA DMWIANNID DIYIANNI VIDOYW DTN XN TIPN
#define LENGTH 5

int** makeArray() {
int **arr2d = (int**)malloc(sizeof (int*)* LENGTH),i,j;
for(i=0; i<LENGTH; i++) {
arr2d[i] = (int*)malloc(sizeof (int)* (i+1));
for(j=0; j<=i; j++)
arr2d[i][j] =i*j; /* sameas: *(*(arr2d+i)+j) =i*j */

}

return arr2d;

}

int main() {
int **ar = makeArray(),i,j;
for(i=0; i<LENGTH; i++) {
for(j=0; j<=i; j++)
printf("%d " * (*(ar+i)+j)); /* same as: printf("%d " ar[i][j]); */
printf("*\n");
}



return O;
}

1099
0
01
024
0369
0481216

NIYYPNAY DIIVNI95 DIYIANN

: NN P2 NN
void foo(int n) {
n++;
printf("n=%d\n",n);
}

int main() {
int n=7;
foo(n);
printf("n=%d\n",n);
return O;

}

n=8
n=7

:NIN Y VYN

:main DY m MNWNN SV payn XN foo YY n MNUNnY XN 730 N20N

foo(..) 7 n

main() 70

by MI2YN NXIPI VNN NN ,NDWNIY VNN DY PNYN NIN DAPNNN TVNID TWND
.value
DI NPNRY N ONPNN MINWNN DY 1210 YIVN INN 0NN DY PRYNI UMY MDY 9D
TINWNN DY I TPIPNAN TINT DOYNINNDN DMPWN DIV DIXI NXON by value NIayn
T IINY MYYY 1) PR ONPNRN
T2 TIOIND NN ANOW) . DOWOIANN NI NINT MUY 1) ,C - 2
void foo(int* p) {
(*p)++;
printf("n=%ca\n",*p);
}

int main() {
int n=7;
foo(&n);
printf("n=%d\n",n);
return O;

}

8
8

;7PN VYN ,NYD

: 13D PN NNNNN L,PNIIND NIPNIAN

foo(..) ~.P

main()




INYN ININD DT MNY DN *p - ) N1 MIXPY M)

DMNWYN MY NYAPNN ,Swap NPIPNAN NI I NI DMVNID DY NIAYND TN NN NHNT
: DY NN NOHNMD
void swap(int* pl, int* p2) {
int tmp = *p1;
*pl = *p2,
*p2 = tmp;
}

int main() {
int a=2,b=5;
printf("%d %d\n",a,b);
swap(&a,&b);
printf("%d %d\n",a,b);
return O;

}

25
52

1099

;17090 NN PYN 7PN ND XN VI 10D YN VIDdnY AmA)a)
void swap(int a, int b) {
inttmp=ga;
a=b;
b =tmp;
}

AN .NVIY NMINI WNRNWND VAN, TAN TIVI AN NN NNN PPN 1Y NP0 YO
: TP XNV DY DIVNY NIY NAYNNKIN NISPND DY NPT
void roots(double a, double b, double ¢, double* pz1, double* pz2) {
double discriminant = sgrt(b*b-4*a*c);
*pzl = (-b+discriminant)/(2* a);
*pz2 = (-b-discriminant)/(2* a);
}

int main() {
double z1,22;
roots(2,-6,4,& z1,& z2);
printf("roots: %f %f\n",z1,22);
return O,

}

roots: 2.000000 1.000000

1099

:ONTY by value 921y 1I8Y WIANNT 010990 YN DYPIAYN TUNI DIV 2D DIV INTD
void foo(int* p) {
pt++;
printf("%d\n",(int)p);
}

int main() {
int *p = (int*)17;
foo(p);
printf("%d\n",(int)p);



return O;

}

21
17

1099

NULL - Y ysasn
NN .0 NINON HY WIANND I NNY NON WIANN DY NYANN-IN 1IDY NOIPHRN TITH
:0IVI VIDY DT NN TIPN .TPDI0ND NAIND MIPNX 0 - ¥ NNdYVIN
void foo(int* p) {
if(p!=0) /* equal to "if(p)" */
printf("p points to something\n");
if(p==0) /* equal to "if(!p)" */
printf("p doesn't point to anything\n™);
}

int main() {
int *p =0,i;
foo(p);
p = &i;
foo(p);

;099
p doesn't point to anything
p points to something

false- 5 awn) Do 7Y true 71y Hya 1N MV D) AWN) DIN - 1 ANYA TIY 9,0

n2>n5 oprna NULL - 2 wnnwnb 1303 .0 nvnd NULL Sv namin nn»p stdio.h xapa
95 NN PONND N, NNINNRD NT .DOPIAND DY DTV TUNRD 0 TIVN DY NYNan

.NULL -205v ooyomn

MM

(INY DTN NN TPN .0 TIYN MDav char Sv 7avn vy nasvn C- 2 nnnn
#include <stdio.h>

int main() {
int i=0;
char *str = "Hallelujah",*p=str;
while(*p) {
printf("%c",*p);
pt+;
}
printf(*\n");
while(str[i])
printf("%c" str[i++]);
printf("\n%s\n" str);

return 0;
}
1099
Hallelujah
Hallelujah
Hallelujah
21NN MONN SV NI NN
IHlaylllulilalhlol
str p



.0 30 YW NPON YOV byte XIN 0TIV L0900 MTNIPN 1210 NN

DIPN NON,NNIYN NIRI NNIONNN NP NINKDT MIDIIN I PIITN MINX ORIV T
NI IINYD IN MXPND TNN PN NY DIPN .NINNN TIN2 MMYIN MNINDD TYPHN THPN
PIDIND NN DI TIRD 9PN INY)

- DY YN NNYN DR PONND D913 1N MMIDNNN DY NN NHINNKNY DIN MM DN

: N2 NIV main

char trl] = {'H''a, 11 e, 1 Ui el R \O' * p=str;
.char Y919>01 0 159y \0' M1V .char YD1V H INN SV TyTPN 199y 'H' »HvIan

:TNNIVA N NNV PINND N, NNIYN DY 1NN NNINHY DINIY DON DN
char *s="Hallelujah",*str = (char*)malloc(strlen(s)+1),* p=str;
strepy(str,s);
1y string.h X2PN NN 90915 W strepy -3 strien NPSPNN NN DOYIND 7PN IWIRY »Td1
: PINN NYINNA NN NTIPIN
#include <string.h>
DY2>5990 DMNNN 190N NIN NPT DY TN .NNI NDOWI DY TN NPINN strien 78PN
IINND APNYN NIVINA strepy PPN NN NN 1IDNN 0 INND NN NIDY D2 NN
NRYY MNIND ONY P2 TIINPIOPY IRNYN NIVANNDT NIV NOIVIDIY PPN NP
.man - 9 19 D90 OOV .stremp
:1PIOINN DPDIIMN IINYD YNNIV DY NIPNIY PNIDT DY DPIN NIINHDNY NIN ONX

freg(str);
struct

NP NI DIV .01 DIDIV NN YW 1P NNNNN YTN DIV YY PNNNY 1 ,C-2
DYOIVN ONNYN 1IN DY Struct - N DYV NINWN (MK - Sstructure May) struct

ADITIND) NPIPND HDID N TN java- n 1910 class-n awmnd NNITH2TN .0MoN

STNTY
#include <stdio.h>
#include <stdlib.h>

struct Person {
unsigned int _id;
char *_name;
float _age;
}; /1 note that the semicolon is mandatory

void printPerson(Person per) {
printf("%d, %s, %f\n",per._id,per._name,per._age);
}

int main() {
Person perl,*perPtr;
perl. id = 14157689; perl. name = "Hizkiya";
perl._age=17.5;
perPtr = (Person*)malloc(si zeof (Person));
(*perPtr)._id = 177777,
perPtr->_name ="Yirmiya'; /* sameas (*perPtr)._name="Yirmiya"; */
perPtr->_age =.5;
printPerson(perl);
printPerson(* perPtr);



free(perPtr);
return O;

}

14157689, Hizkiya, 17.500000
177777, Yirmiya, 0.500000

1099

12N IUNOVY 29 IDOVY
(*perPtr)._id = 177777,

T2 NNIVN NN PN 7PN IDPINPN NN DIVIRYN 1IN 1PN ONIIN PN DO VIDOIWN
*(perPtr._id) = 177777,
PNDMIP NNV NI 97N NI W1
DNV VIDIYNVY NI TRND NI N2V NON YN NN DY NNV MY NYON
:NIXIPN TIT NOYN MIONN PO ,NNIN NN HII0N
perPtr->_id = 177777,
DIYRUNN NN MVN XY NIAXIPNRN NN VIDY

C =2 n5vmvn NnrvH

oYY HY TIP O)T).0MVY OIM Rhjabal) P NI THAC-2yD P2900 172 v NYD
:NAVNIVYN
#include <stdio.h>
#include <stdlib.h>

struct Node {
double data;
Node* _next;

};

struct List {
Node*_head;
unsigned int _size;

H

Node* createNode(double data, Node* next) {
Node *p = (Node* )mall oc(sizeof (Node));
p->_data = data;
p->_next = next;
return p;

}

List* createList() {
List *p = (List*)malloc(sizeof (List));
p->_head = NULL;
p->_size=0;
return p;
}

void insertFirst(List* p, double data) {
p->_head = createNode(data,p->_head);
p->_sizet++;

}

void printList(List* listPtr) {
Node *p=listPtr->_head;
while(p) {
printf(" (%f)->",p->_data);
p = p->_next;



printf("|| size:%u \n" listPtr->_size);

List* cloneList(List* listPtr) {

}

List *ret = createList();
Node *old = listPtr->_head, **copy = & (ret->_head);
ret-> size = listPtr->_size;
while(old) {
*copy = createNode(old->_data,NULL);
old = old->_next;
copy = &((*copy)->_next);

return ret;

void freeList(List *listPtr) {

}

Node *pl = listPtr->_head,*p2;
while(pl) {

p2 = pl;

pl = pl->_next;

free(p2);

}
freg(listPtr);

int main() {

int array[]={2,4,6,12,77,99} ,i; // we used a short way to initialize alocal array

List *listPtrl = createList(),* listPtr2;

for(i=0; i<6; i++)
insertFirst(listPtrl,array[i]);

printList(listPtrl);

listPtr2 = cloneList(listPtrl);

listPtrl-> head-> next-> data= 1.1111,

printList(listPtrl);

printList(listPtr2);

freeList(listPtrl);

freeList(listPtr2);

return O;
}
s 099
(99.000000)->(77.000000)->(12.000000)->(6.000000)->(4.000000)->(2.000000)->|| size:6
(99.000000)->(1.111100)->(12.000000)->(6.000000)->(4.000000)->(2.000000)->|| size:6
(99.000000)->(77.000000)->(12.000000)->(6.000000)->(4.000000)->(2.000000)->|| size:6
M MIYN 9901
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PLIDND MM PN XD ODIRY Java - 2 MYNN 1901 P20NY JN,72010 WIANNIN HIWVINY INND
: N2 Java- N NP2 PIan) .No Ty

public classMain {

static private void fool(int n) {

n=_§;

}

static private void foo2(A a) {
a_data=8;

}

public static void main(String[] args) {
A a=new A();
intn;



a_data=n=7,
fool(n);
foo2(a);
System.out.printin("a._data="+a._data+", n="+n);
}
}

class A {
publicint _data;
}

a._data=8, n=7

-7 VYN

1 fool 'y NNV XY n -1 foo2 >y NNV a_datayr1n

NI ant NIPNI OPOIND WIAND 7Y WNINND VPN DY OV D Java- 2V NN NIVNN
NP2NN foo2 W T3 by value Y2301 712N ,foo2 Y 929N aTWNI LA DN VPAIND WIANN
AN XY IDSY VPPAIND PN ,NNVWY F002 W NPWN INPNRN A VPIIND WANNN SV PNYN
, fool - 5 by value 9230 int ©IMVH N MINWHPN NNT NV NNV 12Y S NPRN VPNV T
SNPRN MNWNRN DY WAUN KXY PRYNN YW MY Y3 . pnyn npdnn fool ¥ 75

: N2N 19INA foo2 NN MV DX
static private void foo2(A a) {

a=new A();
a._data=8;
}
(TP VYN
a._data=7, n=7

WIANHAN NN MY KD PRYNN Y80 YW MPW 93 by value 1230 18y $A80NY PPN W
ReVpian)

! DYYra8Na MNP

DOWOANN DY NTIAYL IV TN .93 YONION TP NXND TWANNDN NNSIW 17 DD DN DOYINND
DN DOVITIVDN MYNTI WO MY TIVYL . NNINXD TN DIVP DNINI NN MYVD TN HP
TI2YY NODY MNY MIDNNY DTN NXIN 7PYIN YNV DN AMYO DY NPY NIINSIN

SONTY .NPPN NN
#include <stdio.h>

int main() {
int *p; /* forgot to allocate space (use malloc) */
p[5] = 12345;
printf("%d\n",p[5]);
return O,
}

12345

: DTN NDID NNIN NNINN

2399 NYTIN MMSA (“crash” 21D ,7POINND ,NPPN KD NN OMNOND) "NV IN
segmentation fault

NRMINN MIZN NN .DOVHNYN NN I TIVHD DIPH NYSPN NYNIA ROV NN MMIDINA NNXIVN

7891 VYN NN DATNDY TIAYY NDDY NN WITH T NINNN

TV NI TIYO DXONMNNI VX 3772 .11IDNN VTNN PN p MNVNN D220V (N2INDN) TIVN

DN ,TI2yN 1°39IN1N,21N99 11173 12 PNIDPT NN NAIND XIN 79237 TIY ININ NIPHNA ONX 7OV

PN .DNPY NDIVY NN NIDN NNINA,TIAYN NIDIND NNNDN NNINL DY D) .NYN NN N

1°2) MNIN P2 NNNYNY DI NI ,p DY (GNMIND XON) TIVN DY NNINY D17 XY NNIN DIV

DN TN XY ANV TN,V NP YO NN AN 70NN . MNNIVH

TPNI) NMIINND NTA .JPPNT YA NN ,NPPNI TPONY NNYY NY NMNIDINY NTIVN
WA WRRWNN 91T TIPR PON NN PSPNS NN NY PIRTY 10) TR 1INV



NUNNYNR NN 1Y TIVHN DAY NI Y00 MMPNRI POINNY NDIDY NN NDITHIN NMINN
POY 1IN0 ODDY NIDINN HY DINK DIPYNI 1NN KD DIPNI XNMDN

: DYWOANND MINOIYY NMINONT SNV TY N°2)
#include <stdio.h>

int* foo() {
int array[4] ={1,2,3,4};
return array;

}

int main() {
int *p = foo();
printf("%d\n",p[3]);
return O,

}

f00 TWND .1MNPNAY YIRPID TIVNID W1AXN NINN foo ¥ 1NN NITNHN MPN NN NNIIND
DY PP -Wall - 2 WIdW . WIdYD YPIN ION array X¥3°3 12 N1, NNMONoNn
JNIN MYVN YD NN NOITND

:NAON NINT
#include <stdio.h>
#include <string.h>
#include <stdlib.h>

int main() {
char *pl = "hi mom",*p2 = (char*)malloc(strlen(pl));
strepy(p2,pl);
printf("%s\n",p2);
return O,

}
92W2 DIPN PIODN YNPIN KD p2 7Y YAXIAN TIVNHT PPN NITIN MIPN R N2I2IN NNMIND

MNYY TN DPD IN OMP NHIND DI2W NI ¥ p2 77y NYANIND NIINHDN DX 9POND
N NN NRYPNN NTIND 7Y D) DIPN
*p2 = (char*)malloc(strlen(pl)+1);

DI DXAXYI NNON PIT DITND MDY )ION NPYHVI MOLIVI NMIYO
pre-processor - n

NIXMNY NNX NIV NN 525101 NP VOPI NYAPNN AWYNN NN NI NXIN AID»IMP
NAY DNIND MIN NIN IR MINK D12 .NINNK NAVA NOIPY MIDN DY XIP VDA
NIV MYNWYN NNIN DY NP 1801 C NAVIA NP DaPn (gee D) CHY A»9amp .avnn
PONN .DXIVA text YTIDY YN NI ,NNNY DNIND NINDNI D>NNN 99»IMPNVY 19D .NNON
NO>NY SY MDY YNNI pre-processor - 7 . Pre-processor - N NP NON 0YTIDY HY SNINND
2NNN I9MIMPN HY DIINNN PONN TYRI /) TIP OYOP NPPNN ,MNINND NAONN ,DONIP

2 PONRNN YONY NN DX NAN 9PN .pre-processor - N YW V9N DY T2y DNV NI ,TIaYD

Pre-Processor 77nn

DAnNnn

C nowa n'DIN C novwa nINN
text "T11°D TNRY N1IDN NOYA N'DINN

(Tayn7 n'o'¥90)
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NINI MTIPAD MINDIVT YNV .pre-processor - 1 NIY NMTIP )N FN2 MPNNNN MTIPON D
SV ¥y 5o bW NabNND NN #define old_string new_string NTPoN #include -) #define 0
MYV XDPN DI NONWO N #include <file_name> NTYPON .new_string 2,72 old_string
NMPON ©IPNA file_name

2IN2) ON,NMTY .-E DY gee DY Ny Y pre-processor - 1YY 199N NN NINID MNP 1N
: check.c bwa Md NP
#include <stdio.h>
#define NUM 5

int main() {
int x = NUM, y=NUM+1;
return 0;

}

:TINAN NN I9MIMIPN NN DIV IN)
$ gcc -Wall -E check.c
S TONN DY NNAN NOITNN NN DIAP)
... stdio.h ¥2YP2 2MOVW MIPN Yo...

int main() {
intx =5, y=5+1;
return 0;

}

.C = 2PN TP PYTY RIN pre-processor - 1 H¥ VN ,NINPD JNNIVY 195

NNRYPNY 0N XY define - ¥ 712D 2IWN .OOWNAP PTIND »T52 define - 2 wRNWNO> MM C -2
NN NAONND DIN P NON MINYN NIY DIPN



